
REVISIONS

PRO REV. DATE. ALTERATION. AUTH

0 11-08-2016 As Per Client's Request V1422

1 15-08-2017 Replace spigot with hydraulic oil tank Cap and filter As ECR 
030-0001. V1422

2 08-09-2020 As per mail update [Change oil tank cap design] V2885

First Angle
Projection

1

Product Finish: Polished
W =23.90 (Kg)

Client Code:   HTA180

NOTE: All dimensions in mm (unless noted otherwise)

2

Sheet 1 of 3

V2885As per mail update [Change oil tank cap design]08-09-2020

Client Rev:  1

Product Code: 001-002-0328NZR1

Date:  

Contract #: 
Client: RED FLAG/REID & TWINAME

Approved By:               

AUTH.ALTERATIONDATEPRO REV.

3

5

-

2

4

0.8

1.2

3

0.5

0.8

2

0.3

0.5

1.2

0.20.15

0.8

0.3

0.5

0.2

0.1

0.2

0.1

0.15

0.1

0.050.05
Angle Tolerance>4000-8000>2000-4000>1000-2000>400-1000>120-400>30-120>6-30>3-60.5-3Selection

MO:    Product Description: RF/RT: Alu Cyl Hydraulic Oil Tank 180L (550Dia x 775)

Dwg Description: REVISIONS TABLE

Client Dwg Ref:   HTA180
Contract Ref:                      

Quantity Batch: 

Date:   

Signature By:

Batch:



AR

AS2

AS2

1

9

AC-01

AC-02

AC-08

AC-07

7
8

6

5

AS9

AS5

LB

4

AS9
AC-09

DETAIL AR

AC-05

10

12

AC-03

AC-04

AC-06NOTE:
AC-01 Saparate packing, do not install on tank.
AC-08 Client Supply.

In AC-01 there are always 2 AC-09.

List of Part

Part # Code Description Material Spec Size Qty. Unit Total

1 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 1737x743x3mm 1 Sheet 0.4481

4 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 486x339x3mm 1 Sheet 0.0572

5 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 637x34x3mm 1 Sheet 0.0075

6 902-041-0100-1 10(+/-0.075)mm thk 1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 200x200x10mm 1 Sheet 0.0139

7 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 200x200x3mm 1 Sheet 0.0139

8 930-001-0015 Rubber Sheet: 2mmT Cut To Size Rubber 200x200x2mm 1 M2 1

9 902-041-0030-1 2(+/-0.075)mm thk 1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050/A5052-H32 575x426x2mm 1 Sheet 0.8507

10 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 227x200x3mm 1 Sheet 0.0158

12 902-041-0050-1 3(+/-0.075)mm x1200x2400 Aluminum Flat 
Sheet (A5052-H32) A1050\A5052-H32 303x77x3mm 1 Sheet 0.0081

AS2 SFP003-002-0115 Tank Oil Guage End-Aluminum 550mmDia A1050/A5052-H32 570x3mm 2 Pcs 2

AS5 SFP002-010-0100 Tank Socket Straight Mill Groove End Alu 
11/4" BSPT (53ODx30L)

Aluminum Grade : 
6063 T5 - 2 Pcs 2

AS9 SFP003-900-0010 M6 Square Nut - Aluminum A1050/A5052-H32 25x25x5mm 4 Pcs 4

AC-01 915-007-0001 LS-5'' Black Oil Level indicator With 
Thermometer N/A - 1 Pcs 1

AC-02 915-010-0013 1-1/4" plastic socket cap : injection Molded Plastic - 2 Pcs 2

AC-03 914-020-0005 M5 x 0.8 x 15mm long Domed Head Bolt Steel Grade 8.8 - 6 Pcs 6

AC-04 914-090-0002 External Tooth Washer Flat  M5 (EZP steel) Steel - 6 Pcs 6

AC-05 915-001-0050 Filter with air breather TOYO-50-PW 
(P=Plastic, W=Silver by chrome-plating) plastic / silver - 1 Pcs 1

AC-06 914-351-0002 M5 Ribbed Steel CSK Head Rivet Nut or Insert 
Nut (S-CM-R Fast-fix Code) Steel - 6 Pcs 6

AC-07 914-000-0206 Hex Head Bolt  M10 x 20mmL x P1.5 - DIN 
931 Steel: 8.8 - 3 Pcs 3

AC-08 00-000-0000 Return Filter - OMTF series 17 (Type 1 - A 1-
1/4'' BSP) (Client Supply) N/A - 1 Pcs 1

AC-09 914-000-0307 Hex Head Bolt M12 x 30mmL x P1.75 With 
Flange Steel: 4.6 - 2 Pcs 2

LB 919-100-0050 "RED FLAG Logo with www.retwine.co.nz"-
Oval-shaped Label,90mmL x 45mmH S/Steel 304 - 1 Pcs 1

Batch:

Signature By:

Date:   

Quantity Batch: 

Contract Ref:                      
Client Dwg Ref:   HTA180

Dwg Description: ASSEMBLY 1 OF 2

Product Description: RF/RT: Alu Cyl Hydraulic Oil Tank 180L (550Dia x 775)MO:    

Selection 0.5-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 >4000-8000 Angle Tolerance

0.05 0.05

0.1

0.15

0.1

0.2

0.1

0.2

0.5

0.3

0.8

0.15 0.2

1.2

0.5

0.3

2

0.8

0.5

3

1.2

0.8

4

2

-

5

3

PRO REV. DATE ALTERATION AUTH.

Approved By:               

Client: RED FLAG/REID & TWINAME
Contract #: 

Date:  

Product Code: 001-002-0328NZR1

Client Rev:  1

08-09-2020 As per mail update [Change oil tank cap design] V2885

Sheet 2 of 3

2

NOTE: All dimensions in mm (unless noted otherwise)

Client Code:   HTA180

W =23.90 (Kg)
Product Finish: Polished

1

First Angle
Projection



R271.5

 6
66

 
 5

83
 

 225 
 15 

 28.7 

 10° 

 20 

AJ

Đường nối
The seam

Socket 1 1/4" BSPT

5
Hàn đầy
Full weld

5
Hàn đầy
Full weld

12
7

72
.5

55
3

 512.5 

 250 

 65  120  65  4
3 

 1
20

 

 387.5 

 276.5 

 775 

E

5 Hàn kín bên ngoài
Full weld outside

5 10-118 Hàn đoạn bên trong
Tack weld inside 5

Hàn đầy trong và ngoài
Full weld inside & outside
TYP

5 40-100
Hàn bên trong
(5 đoạn chia đều)
Welding 5 segments 
40 evenl divided
Inside

 16 

 R10 

DETAIL E

5 Hàn đầy
Full weld

 1
0 

 2
 

 3
 

 206 

 200 

 3
5 

DETAIL AJ

5
Hàn đầy
Full weld

Batch:

Signature By:

Date:   

Quantity Batch: 

Contract Ref:                      
Client Dwg Ref:   HTA180

Dwg Description: ASSEMBLY 2 OF 2

Product Description: RF/RT: Alu Cyl Hydraulic Oil Tank 180L (550Dia x 775)MO:    

Selection 0.5-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 >4000-8000 Angle Tolerance

0.05 0.05

0.1

0.15

0.1

0.2

0.1

0.2

0.5

0.3

0.8

0.15 0.2

1.2

0.5

0.3

2

0.8

0.5

3

1.2

0.8

4

2

-

5

3

PRO REV. DATE ALTERATION AUTH.

Approved By:               

Client: RED FLAG/REID & TWINAME
Contract #: 

Date:  

Product Code: 001-002-0328NZR1

Client Rev:  1

08-09-2020 As per mail update [Change oil tank cap design] V2885

Sheet 3 of 3

2

NOTE: All dimensions in mm (unless noted otherwise)

Client Code:   HTA180

W =23.90 (Kg)
Product Finish: Polished

1

First Angle
Projection


	REVISIONS TABLE
	Drawing View243
	Drawing View245

	ASSEMBLY 1 OF 2
	Drawing View247
	Detail View AR (1 : 11)

	ASSEMBLY 2 OF 2
	Drawing View236
	Drawing View238
	Detail View E (1 : 1)
	Detail View AJ (2 : 9)


